Chapter 11 (sense organs)

Worksheet biology 10* grade

Name the following
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Question answers NO"

Enzyme present in tears.

Lens divides inner cavity of eye ball into ..... and ......

Pigment present in rod cells.

Pigment present in cone cells.

Part of retina where maximum number of sensory cells present.
Nerve arises from eye that carries message to brain.

Lens use to correct vision in myopia.

Sensory cells for hearing present in middle canal of cochlea.
Dynamic equilibrium is controlled by which part of middle ear.

. Tube equitizes air pressure

. Nerve arises from ear carries impulse to brain

. Fluid present inside median cochlear canal.
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